

## Multiply by $10^{-1}$ (I)

Find each product.

$59 \times 10^{-1} =$

$45 \times 10^{-1} =$

$33 \times 10^{-1} =$

$39 \times 10^{-1} =$

$7 \times 10^{-1} =$

$81 \times 10^{-1} =$

$69 \times 10^{-1} =$

$1 \times 10^{-1} =$

$4 \times 10^{-1} =$

$35 \times 10^{-1} =$

$95 \times 10^{-1} =$

$89 \times 10^{-1} =$

$38 \times 10^{-1} =$

$40 \times 10^{-1} =$

$20 \times 10^{-1} =$

$96 \times 10^{-1} =$

$86 \times 10^{-1} =$

$43 \times 10^{-1} =$

$70 \times 10^{-1} =$

$72 \times 10^{-1} =$

## Multiply by $10^{-1}$ (I) Answers

Find each product.

$$59 \times 10^{-1} = 5.9$$

$$45 \times 10^{-1} = 4.5$$

$$33 \times 10^{-1} = 3.3$$

$$39 \times 10^{-1} = 3.9$$

$$7 \times 10^{-1} = 0.7$$

$$81 \times 10^{-1} = 8.1$$

$$69 \times 10^{-1} = 6.9$$

$$1 \times 10^{-1} = 0.1$$

$$4 \times 10^{-1} = 0.4$$

$$35 \times 10^{-1} = 3.5$$

$$95 \times 10^{-1} = 9.5$$

$$89 \times 10^{-1} = 8.9$$

$$38 \times 10^{-1} = 3.8$$

$$40 \times 10^{-1} = 4$$

$$20 \times 10^{-1} = 2$$

$$96 \times 10^{-1} = 9.6$$

$$86 \times 10^{-1} = 8.6$$

$$43 \times 10^{-1} = 4.3$$

$$70 \times 10^{-1} = 7$$

$$72 \times 10^{-1} = 7.2$$